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(1) — & = FF (HA7: T-H)
% A % H
E | + & m % T E O
m A& § 34,078,000 m H & F 34,078,000
1 i Bi 16,747,424 1 #% = by 278,240
2 H 5 FE 5 B 193,000 2 % by 4,034,541
R | =1 IV b N 5 175,000 3 R s Ly 8,303,835
4 MW B B R 4 740,000 4 1 A+ # 3,332,480
5 V7R B A 4 15,000 5 97 1 by 101,534
6 H ®) B A B A2 T 4 170,000 6 B M K E ¥ B 83,464
7 E A 2 it hE 5% % Pt 1F 93993 70 T # 218,790
TR S A b ’ 8 + 7N Gy 3,707,665
8 i & K #l K f & 657,000 9 193] # 1,328,662
9 W K x  fF B 1,220,000 |[ 10 # G # 10,507,836
10 A2 4 f RRF B A 5 4 15,100 || 11 & & % 2,102,804
11 ¥ & Kk A #H 4 341,278 || 12 ## * H 4 28,149
12 f A B & O F &k 736,797 || 13 F i # 50,000
13 | RS- & « B 2,071,075
14 B * H 4 868,765
15 PE I A 2,203
16 % B 4 151
17 #& A 4 1,172,011
18 ey 4 1,000,000
19 1Y A 1,108,903
20 T & 6,751,000
Bl B EGR
(2) % Bl & FF (HL7: T-H)
= & a1l Bis - %H
# 4] 17,585,039
B @ FE &R B & Bl = F 7,186,802
T ook E F X RO & R 1,878,000
% N R B K B = 6,092,377
DV N - S T R N R S 483,647
3 H e AT IS FEE R & 57,846
g #EOfR RO B & F 1,886,367
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